

Deborah Aguilar 2018 Order

Deborah Aguilar 3217 FULLER ST Philadelphia PA, 19136 555-555-5555

ID	Name	Unit Size	Unit Cost	Quantity	Extended Price
01-L	Pine Bark Mulch - Fine	2 Cu. Ft.	6.00	1	6.00
06-L	Better Potting Soil	40 lb Bag	6.00	1	6.00
11-L	Premium Rye Grass Seed	3 lb Bag	15.00	3	45.00
				Sub Total:	57.00



George Hawkins 2018 Order

George Hawkins 4529 GERMANTOWN AVE Philadelphia PA, 19144 555-555-5552

ID	Name	Unit Size	Unit Cost	Quantity	Extended Price
13-L	Step 1 Fertilizer and Crab Grass Control 18-00-10 (covers 5000 sq.ft	20 lb Bag	22.00	5	110.00
				Sub Total:	110.00



Kathy Reid 2018 Order

Kathy Reid 2116 MIFFLIN ST Philadelphia PA, 19145 555-555-5546

ID	Name	Unit Size	Unit Cost	Quantity	Extended Price
23-L	Finch Mix Lyric	5 lb	12.00	2	24.00
				Sub Total:	24.00



Ann Harper 2018 Order

Ann Harper 310 HELLERMAN ST Philadelphia PA, 19111 555-555-5542

ID	Name	Unit Size	Unit Cost	Quantity	Extended Price
08-L	Better Top Soil	40 lb Bag	5.00	5	25.00
16-L	Step 4 Fall Fertilizer 20-00-10 (covers 5000 sq.ft.)	20 lb Bag	22.00	4	88.00
		•		Sub Total:	113.00



Wayne Holland 2018 Order

Wayne Holland 6609 CHEW AVE Philadelphia PA, 19119 555-555-5537

ID	Name	Unit Size	Unit Cost	Quantity	Extended Price
23-L	Finch Mix Lyric	5 lb	12.00	3	36.00
				Sub Total:	36.00



Beverly Nguyen 2018 Order

Beverly Nguyen 3350 KIP ST Philadelphia PA, 19134 555-555-5531

ID	Name	Unit Size	Unit Cost	Quantity	Extended Price
13-L	Step 1 Fertilizer and Crab Grass Control 18-00-10 (covers 5000 sq.ft	20 lb Bag	22.00	4	88.00
				Sub Total:	88.00

TOTALS

Total Cost: 1054.25 Total Quantity: 102